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Section A (20 x 2 marks)

Choose the correct answer and write the number 1,2, 3or4 in the
brackets. _

1. In 907, the digit 9 stands for

(1) 9ones

(2) O9tens’

(3) 9 hundreds

(4) 90 hundreds (- )

2. 5groups of 10 is the same as

(1) 5x5x5%x5x5

(2) 5+5+5+5+5

(3) 10x10x10x10x10 : -

4) 10+10+10+10+ 10 . _ . )

3. 24 sweets om:@ be shared equally among 6 boys.
How many sweets will each boy get?

M 12
(2) -8

(3) 6 )

“4) 4 ()

4. Maryann has 4 story books. Sue has 4 times as many story
g books as Maryani. How many story books does Sue have?

M 4
S

4

(1) 16
2) 12

(3) 8 .
“4) 4 { )




{amabout - . tali.

(M 1m
2y 1cm
(3) 10cm
“4) 10m .

Find the mass of thé pineapple on the weighing scale.

(1) 6409

(2) 680g :
(3) 690g
4y T720¢g

100¢ can also be written as

(1) $0.10 i
2) $1.00

(3) $10.00

(4)  $100.00
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. figure is shaded?

Which of the following fractions is the largest?

H 7
8
(2) &
8
3 3
5
4y 4
3

IoéBm:<Boqmmgcm_jmmq:cm:ummrmgmamo?mﬁ .Nlo* :«m

4

(1) 1

(2) 2 -

@) 3

(4) 4 (.
309 can be written as )

(1) 3 ones + 9 ones:

(2) 3stens + 9 ones -

(3) 30 ones + 9 ones

(4) 30fens+9ones (7




11.

12.

13.

14.

Find the sum of 654 m:.o_ 123.

(1) 530

(2) 531

(3) 777

4y 778 . . ()

4%x3= X2

(n 7 ;
2) 6

@3 3

@ 4 | )

Rachel packs 4 muffins and 2 sandwiches into each box. She
has already packed 20 muffins. How many sandwiches will

she need {o pack?
(1) 26
2y 20

(3 10

@) 5 | i ( )

Study the diagrams carefully. -

=
%§

Which of the following has the shortest length?

(1)
(2)
(3)
(4)

N <X <s



15.

16.

17.

Jenny bought a dress for $42. She received a o:m:@m of $8. -
How much money did Jenny have at first?

(1) $40

(2) - $50

(3) $34 |

4) $44 - | )

Study the diagrams carefuily.

. @+@+@+ﬂ.umw_.

glasses

00+ =

glasses pot

- ¢ @ﬂ ._.@ = 3¢

glasses ~ bowl

Which container can hold the most amount of water?

(1) .nQ -

(2) jug

(3) bowl o A
{4) glass o ()

The table below shows the prices of 5 items.

ltems Price i
toy $38
bag $22
tennis racket $45
story book $17
cap . $34

Dad gave Tom $100 on his birthday. Tom wants to spend all
his money on 3 items. What are the 3 items Tom will buy?

(1)  toy, bag, tennis racket

(2)  bag, tennis racket, cap -

(3) toy, tennis racket, story book .

(4) bag, tennis racket, story book ¢ )
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__umm,c_,m A Figure B . Figure C

Which figure above shows w of its. shape shaded?

(1) Figure A

{(2) FigureB

(3) FigureC . :

(4) FigureD ¢ )

From home, Jack took 30 minutes to walk to the library. After
- staying at the library for:an hour, he walked home. He reached
home at 12.30 p.m. What time did Jack go to the library?

. 30mins . 00
HOME | . - LIBRARY
R . 30 mins
(1) 8.30am.
2) 9.30am.
(3) 10.30 a.m. .
(4) 1130am. N ¢ ")

The beaker below is filled with some water. IHow much more
water is needed to fill the beaker to 100 m¢£?

(1) 10me

(2) 20m¢t

(3) 30me : .

(4) 40 me O )

6
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Section B (20 x 2 marks)
Da the following qguestions.

21.  Find the difference between 795 and 1000.

Ans:

22. Abel and Billy share 200 marbles equally. Billy lost 75
marbles. How many marbles does Billy have left?

B T L B P

Ans: .+ marbles

23. Arrange the following fractions in order.
Start with the greatest fraction.

BN TRV |

Ans: \. .
(greatest)




24. -Fill in the boxes to complete the sum.

7 3 |A
- iBl 5 7
2 7 9 |

Ans: A

BT

25. Ariel has 690 beads. Beth has 250 beads less than Ariel. How
many beads does Beth have? .

- 6390

A
v

A : 250

LTI PR

Ans: - .. beads

26. Jilt has six times as many pears as Kim. If Jilt has 25 more
pears than Kim, how many pears does Kim have?

K ? 25

iy

EN
Y

J

PRLN s T

Ans: pears




27.

28,

Ocm 1

T
1
4
]
i
]
L]
L}
1
]
i
]
1
1
&
i
3
t
1
1
1
1
L

R

; e
SR
L

EET R e — _
e

AR S

Find the mass of the watermelon.

papaya |

AL A e S R L i

5 ,_.,.E@Ww%ﬁ
G N s

LIRS

G

Ch

Watermelon

Ans:




29.

30.

Study the diagrams carefully.

What is the <m_cm of %4» ?

| Ans:

-
i
i

After lunch, m:..mé: mﬁmnmo_. watching TV from the time shown
on clock unmom A. He stopped watching TV an hour later. What
time qid m:mé: stop watching TV?

Clock face A

Ans: p.im.

i

10
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31. 4 glasses of water fill up a jug. 3 jugs and 2 glasses of water

fill .Eo a kettle. How many litres of water can fill up a kettle?

Em |

glasses

11

kettle

Ans:

litres




32. The picture graph below shows the number of cans o:.:mom

sold from Monday to Friday in.a mini-mart.

Friday

Monday | Tuesday | Wednesday 4::@&@

Each

-

The mini-mart sold 9@ more cans of juice on

than on Monday.

Ans:

12




33. Look at the figure below carefully.

How many curved surface(s) is/are there in the figure?

Ans: - - .,.amzm.n_ surface(s)

34. Look at the figure below carefully.

0

How ,3m:< rectangle(s) is/are there in the figure?

Ans: .- rectangle(s)

—

13




3. 5| 121 |9

Using the 3 digits above

S

, form the mEm__mmﬁ and largest 3 %@m
numbers. Find their difference.

36. George eats 3 sweets a day.
How many sweets will he eat in 1 émmxo

Ans:

Ans; -~ | sweetls

o AT

37. 6 friends share some marbles. Group the number of marbles
so that each friend will get an equal number of marbles. Circle
the numbger of marbles each Empa 5..: get: .

14



38.

There are 8 lamp posts along a road. The distance _.umgmm: 2

famp posts is 10 m. I all the lamp posts are placed at equal

1 st
Lamp post

T T T e e e e e e

EEETEFITET JURIEN

39. Look mmﬁsm figures below carefully.

g_mwmzow_ how far is the 3" famp post from the 8% lamp post?

.ogih
Lamp post:
10m_
apart
Ans: m

Which box is the heaviest?

15

Ans: Box
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40. Look at the patiern below carefuily.

QPOOO® » ©F

Select the correct figure to complete the pattern above.

Ans: Figure -

16



SectionC (5x 4 marks)
Solve the word probiems.

41.  Mary has 345 beads. Jane has 223 beads more than her.
How many beads do they have aitogether?

They have | beads altogether.

42.  Mother bakes 43 muffins. She gives 6 muffins to each of her 5
friends. She keeps the rest for herself. How many muffing
does she keep for herself? A

Mother keeps muffins for herself.

17




43. There are 8 boys in the playground. Mrs Tan gave 5
chocolates to each boy. Another 2 boys joined them and the
chocolates had to be shared equally among ali the boys.. How
many chocolates will each boy get in the end?

-

‘Each boy will get - chocolates.

44.  Uncle Chan bought 18 kg of rice on Monday -and twice that
amount of rice on Tuesday. On Wednesday, he bought half
the amount of rice that was bought on Monday. How many
kilograms of rice did Uncie Chan buy altogether? ’

Uncle Chanbought . kg of rice altogether.

18



45 Seng and Bill have the same number of marbles. Seng has 7
red marbles and 3 blue marbles. Bill has 1 fewer red marble
%m.: Seng. What fraction of Bill's marbles is red marbles?

of Bil's marbles is Ted marbles.

© END OF PAPER ©

PLEASE CHECK YOUR WORK CAREFULLY!
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Answer
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Q1102 [ Q3[04 Q5] 0607 [08] Q9 [Qio]Qli][0i2]Qi3]Q14]Q15]Q16] Q17|
3{4|4{21211|2]l2|l1)l4(a4]31 2133|213
Q181 Q13 [ Q20

3131 4

21)205 22)25 23)5/7,5/9,5/13 24)A: 6 B:4 25)440

26)5 27)2cm 28)420g 29)5 .30)2.30p.m.  31)7L
32)Thursday 33)3 34)16 35)693  36)21 37)

38)50m 39)B 40)8

41)345 + 223 = 568
568 + 345 =913
They have 913 beads altogether.

42)5x 6 =30
43 -30=13 _
Mother keeps 13 muffins for herself.

43)8 x8 5 = 40
8+2=10
40 - 10=4
Each boy will get 4 chocolates.

44)18 x 2 = 36

36 +18 =54
18+-2=9
54 =9 =63

Uncle Chan bough 63kg of rice altogether.

45)7/10—-1/10 = 6/10
6/10 of Bili's marbles is red marbles.



Answer Key





